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Matis — PupLic Exam
CREATWE QUESTION ANSWERS

(ROVERNMENT MoDEL QUESTION — 2019
21- Solve the {-ullowinj system of linear

'X"l‘ﬂ..j:—l.
2x-Yy=3, A+2Yy=-I
A= = = = —(=1)= =
), 5 | = B} =ip =8
A%:JS -‘l: -1 =5
- 2
Aj" I":' _:i‘— _2__:5:—’5
- ﬂu.__a_.: g =
e EEE Y TS
. O el
§= 2 = SRty

equations by Cramer’s vule 2x-4=3,

Bk F‘mo\ the Centve | f‘od ano\
eCCEn‘tnc.:’c 0} the hﬂPerbola.

S - PURATCHIVENDHAN M-S M.EJ.M.Ag |22~ ’*3 —"—JHC + 32y —|27=0

lix‘""rﬂ —24x +.324 —127=0
""‘Q_“—’Z‘-ﬂ —iy 432y —12T=0
20 2m) g gy 127
12 [&-*f‘-—ﬂ—#[(a-#)l-—:e] —127=0
12.(a1) —12.— q(a_q)v} by =121 =0
12(x-1) — k(y-4) — TS =0
12(n-1)— 4Cy—u) WIS
12(x-1)
-15
(x-1)

—TS/IQ-

o=
— 4Gy-4)/_
15

/B
—'5/‘#

» (Y- bf)l

o

—_—

23. Flnd the value Oi Sm( +Cos ( I))

Sin +Cos( )) Sm('W 9—“‘)
o (27)

Sin (%‘E)

SinTC

= 1

(50 caf2)

30- Let * be a b’.na\'}j cpemhon on
—Set Q of vational Numbers

de-j‘fcd as axb — ab erh—fhercien’c’w

fo'r *, if anj
2,beRS axb ER
Axp = Q'_l?

. 8
Axe = exa=-a
aAke = o
ae = e
8
e = 6&x:_8_-

a
e =8

('x.-l)a‘
Vi

0!.::._9'_5.
L?-

o

e

T Certre (!,4)

|:2‘.___ 75
3 =
.

-

2.
C “+b

i

25 ,715
T
== - o
L‘.
25

S . PURATGHIVENDHAN M.Sc.,M.Ed., M-Phil

e= i
“The c.covdinates D-_‘ the foci are
(h+c,k) and (h-c,k)

= (+5,4) and (I-5,4)

= (6,4) and (—y,3)

=8 &J s'”j ‘the Pmpe’r’tles % d&j’lnite-..
mtea‘ra.ls, evaluate |x-lldx
HN—| =D
=]
[2-1]= 47 L
(1-]) 27|
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|

3 3
Jll-l)du: f-—(_x-l)dm. +J(a-l)o!'x.
0 (o}

ho- A fair coin s tossed a fixed
number of times - Tf the Pmbabsl;hj
o} 3e&inj _seven heads is.egual to

that of 3ettinj nine heads , find the
waabi[ifﬁ Oi 3ettirﬁ e.'xcac.ﬂj two
heads. JEE Mq;nEze“Feb,ﬁ%-¢t mﬂ

Let the coin be tvssed n--+imds

P) = p(1) = —F-?_

PThesde)s T @M(’E)T 2ne (4
P(a heads) = Ney (Bl (@) ="c, (&)
Pt hec:w\S)z P("‘] haaclS)

"o B "o (&)
n

C_.I = nc.q
16

0=

% l6-2 2
P(2 heads) = ‘6%_(—’5_) (J5_

e, (4)'(4)
[(6x15 /1 i
Dy N E L

g% 15 % —15_)‘

2%x15 x L

e
1
72

GPURATCHIVENDHAN M Sc.,M-Edl., M.Phil.

@
42 (@)Solve the eguation '3 g k26 A3
=0

B —|ox 6% —lbx +3 =0

7(_2'[3%#!61-1—26“___]5-#—3— =

. oe. - A
*xl (3(9:.14--;;5_)—-[6 [’x -hitjﬂflé]: o
'3(xl+i;—_>-—16 x+—i—>+26 =0
Let j: 'x-l*—i"z-
3(5'1.9.)—!65 +26 =0
By 6 6y +2670
Bﬂl—léj +e7 7§ ©
332——63 =lof¥20 =0
(- e (y-2) =°
WYe2)/(2y-l1o) = ©
fj-—-L =0 35-I0=0
[9=2], 2y=10

ﬂ:ﬂ.% A+l =o.
2
2.
ol N SO
>e
e = 227

OcQ_——.Q.‘x.+ |=Q
xL_..qr_--xﬂ =0
2 (x-1) = (n=1)=0

C'7f--"7('>\*l) =0

x=l=c, 2—1=0

1';&:1,\ \
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MN—3FZ =0 5 e =
: 71::!(3

~The ~yeoots e l,.‘n,‘3)—1§.

4‘3(b)|=in0l the non-mmmetﬁc _ancl.
Cartesian. equations of the plane
passng though the points (4,2, 4) and
is Perpenol.cudar P the Flanes 2x+sj+z}z+|=4

and hxt1y+6z +2 =0 §
'ﬂ'—=lt:+9_j+qk. =|
-~ ~ ~ ‘3
b= 2 +8]+4k =]
o e z
C =i+ Trex S
=¥ ey B Mgy )
bxc = ! J E T
2 5 4 5=
b o~
6 0
/\
= i (30-—2_8)1 (w.—lé)& k(m—z]
= N o ~
= R =0k
— — —_
(T-—-C'L) (bxc):o

&

Q)
r‘-

O &

ot

= = AL +}je

2z _ D% D™
23 o 5% 23 25

- (€45)e) (5™ (9

3 -
= O+ + ('x_e+e.x)

Giiven that,

Y —w-J
|

oY -
OF w.g (1)+5(e )(—Ja"‘——e 53—2-3’5

2 -2
By 2% —p |2Y- ‘b;z_.
~% -
5 .. Ag 25 2%
El

2., ¢ R

= st &/
= +t (e e +ee)
- =

oz _ 2%, BF +_@_z;_f>_tj_
D7c WY

=Aelye” ) (e )+ (nee)(25t)

t; st z-—e.)

€ — st.e

+(e

2.
| =€ ’5::3‘1‘:

o
L2z.2Y

2\‘:[3'!:‘

-t. ‘St —e )(2.51:>

©)

(?-* oy +13+Lt?=-) ‘ (9.?+11T— eri.) =Q
-‘_‘?- (2:'1\-“13 6?)— (8+ 5-—24):0
-
- (l\-\-l-u-*égk) (“3)”0
EE
~ -

P, ~

-—p
l et ~» = 9(‘,+:jj+zk.

('x? +:jff+ 12) (1?-%43-— 6E>¢8=c

2”'—'&""!3"’ 6Z +8=0

Whi(,h is the 're,_;)u',rep\ e,c;/uo.ﬁon

bi(b) Let =(ny)=xedvye™ |
ot = e"t,gzstmj s,t €R. Find

9% nd 2Z.
08 ot

where it

I1 (b) Eind the equations o} -I_—anjeni’
anc{ nosmal to the cuxve

Y= yx —oyts=o ot the peint

cuts the

2.
Y-hx-2y+5=0 —— ®

Curve cutd® o92c axis , uJPJG‘J"J 5:0

3:0:} —4x+5=0

d d
9":1—0\5 4 9—3%020
—gi (ay-2) =4

iy s
ol (2y-2)

x —axis.
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ay _ 4 IMarCH 2020/ : 2
i il f (Sinw) T
=, T e
e 27 Prove that J | =X
O‘ﬂ =2 Class |y (RD sharma) J' vm‘r&) 20 —MCQ-_%.?.]
il il ‘ﬂé_ Pawq
ci. ’ _ Lot T= | T ds i
_(_i'_:!_ 2 . = b s o f(SInth (cosn)
e L Tteodn = [ o
Eauation ¢} the tangent : WVa.
quation o s I=J }(s:n_j__-af_) i
g 5 i B T
S = =%)¥ 1 (CeSIh-x
'chln‘:h): P(%JO) § i\ :F,;_ " zal) _ @
= = —_— il I= J i 2% —
'j E:‘! M'(_'l ') E }Cc.osx)‘f—j(fiih%)
-0 = — - 3
lj 2-(7( "'LF) ) ®+® % oOF = J -j-QS\n'x} dm
= —1(‘1%— 5 x Fesinalf (cos)
't ) s + J’WL;EL@LH e
= — (urm.—s) S o0F Ceesx)+ fesinn)
3 =2 ‘Lg ST = j’w :f-C.Smm'H 'j'—Cco.S-x) doc
:"_j = ""H—')l'- +5 § }(,_gmm.).,- i‘ Ccos )
H4+2y—5=0 o’ 2
o - | g 218+ j ol-,‘,
Equation e} the normal : 0 [,x]
_élOPe_ m = _-—';- = i: —1?:* S =
5"31: my (=) I il FWJ
SR E -—_E,j(oc—.‘—%) 20-Find the equation ol +the avabola

4= _lz (&'X;f:)
3 = 11.')[—5
3
= Lt,‘X.—‘s

O =Jpec— 8j-*5

=

Lo — 83-—5

1-} the cuyve & o leftwaw\
Vertex s (2,1) and passing through the
point (1,3).

Eol,aation o} the Pa.ra.bo\a, which
open le}two.rol is

(9-k) = = ha (x—h)
Y@Tf&x (h,k) = (2,1}
(fﬂ—i 2- = —4a(x- 9_).-—*—"@

® SUCCESS 18 NO ACCIDENT.
TT 1S HARD WORK,

PERSEVERANCE , LEARNING,
STUDYING , SACRIFICE

AND ‘Mo8T OF ALL , L.OVE

OF IWHAT You ARE DONG

OR LEARNING T7© D0.”

Passmj “th'roujh-?he point (%,9)=(1,2)
(2- |) = —ya (1-2)
2% = —ya &)
4 = 4a

0= (y-1)"= —4 (%—2) i the
.'ﬁq,uﬂ-";foﬂ D} the Pal”abola,.
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35. Find the Critical numbers(only
7 Vﬂ«lbl?-S)oj the j-a.ncﬁm j’-(ﬂt):é(x_#)l

Fex) = 'x%(x_ urf"
s W P
.'f(x) = :C 5,_2(%*_)_'_ (,x_q_) '%xs J

= s = =1 2.
ol g 4+ k276 (ny)

v.
K§(1—x)(1_(l-x))‘°dx=|
o |
k S(l-—-?‘-) ' du= |
)

|

k §aeatydns!
© !
- ] x‘.?—
k{.?!:_ "
1 2=
0

k{_'_, _L—]z 1
\ 19=

k{ll""“ =|

132

-l 1%
k 132

ol N
lg S 2
= o - % Coh) +4n-%)
_5x*
= 10 1%(%'“4) —}—.[!.(rh._;}.)b .
5 &
2 2
= [0%Cx—)+ 4(m—4) =
5?\:“5 %
J
= An-y) [5-;:. +_2(,_,_® ;
5x* F4
=
= 2(x-4)(5n+an-3) 2
\ W
s >
f o s
F&I= 2Cx-4)(1x-8) g
Sz x
' <
'F("N.) =0 ‘-q
2 (o4)(Tn-8)_
_5x®
x-j=0 Tx-8=0 Xx=o
"X.-.-:Lt_ TH=3
% =3

N
. Critical values are 0,8 , k.
B

40T} the lines X—X1g 97912 Z221 oy
1

mi 1

-0 v )
X—%a _ Y-Ya, 2 2525 (i, on the Same
Lg_ Mg nj_

Plane., then. wiite the number Of Uﬂjs to
find the | carstesian ea}ua'ﬁon ogﬂ"e
above Plome and e,xpla‘m in detail.

The Tequjred number og u.)ajS are 2.

One i$, E?mtion ofr Plane Passmj
A Poin't and. Pam[lel

'H’\Toujh
tv two vectors.

Another one is , eguation o} plane
passing -fhmujh the 0o peints

,anc?\ Pamllel tv @ vectoY.

({)Vector equation: '

38. Let x be a. @ontinuous yandom
vaviable and f(x) i8 olej—;ned as:

10
j’(x): {kx("“) , 0<% <) . Find the
% , othevwise
Value o} k. Examp\€ 10-4 [Olc‘i text l:ccg
VolumeTl - prge 174

Since the 3‘|ve,n fl,mction 18 A
bability dengit unction.
s W 4 2

J f(x) Ax =1
-0

' o]
k S’H’.(P'x.)\ dx=|

o]

o

[ _[f(x)a‘x :Jf(a—x)dx
0 o

i) — —
Y = & + Su+tVv

i =9 Y
Fet-nasb vl T/
(i) Caf’cesi an eﬁ#a'tion :
A=y, Y4 =Wy
L oY ™ lse
lQ_ Mg Ny
(o)
A=y Ejﬁljt Z-Z
- '_'jz_-‘j’ Z,-7; | =0
L m n
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46-(a) A =2quave .._Sha.Ped thin
matexial with area 196 ._Sﬂ}'un‘r'fs
1t make intb an open lbox by

Cuttina Small ec;,ua.l _Sﬂ,uqres
from -the HJour covners and Jj’o\c\mj
the sides ulawaral. Pywve that the
\enji‘n o]l the Side o} a remove4
Square i$ T hen the volume

a-} the box 1S maximum.

3
196 59 units

—_

Avea

side = ,J 96 = Iy Sq-units
Let »— Side o} Y‘gmovagl s\c}uare || =

for open box
L= Iy—2= -1
[T;_—, ly —22c M
= X

\olume = [bh cu units
= (IH -?-'X.)Qq—:)_-x.)('x_)
= (!q--—_'?.‘at.]l(x)
= (196 — 6% + 4o )%
V= 96x —56x + l.t«:u,3
..:D'\ﬁ—erent‘la’ce, with TeSPer.t 1o 2%

L clz'v
=t =3
B £ ) 8 10 N
=7 5 12-+ 214 (72
= —llz4+ |}x7
= —\2+56
= —856 £ 0O

2V is maximum  when 1;7/5
Masci mum 2 +the ;3[01@ o:} s*emoved.
Zguave iS '7/5 wnits.

Sep’c@,mbex 2020

ositive infegef
=]. QldNgxt bock

Exafcdess-| ()

(—i

2|.Find the least
n such that 1‘11.)“
-

~5 . PURATCHIVENDHAN M.Sc.,M-E4., M-Phil.

—d—\i = 196 — 56(ax)#FW(3L )
ol )
= 196 —l2x+ |2nsc
2
.—d——l:: = —ll2 + 202
ol %

for V is Masei Mum

28 Find the differential equation of the
-}ami\ﬂ of Y= ax+bxtc where a,b

- d 2 ave pavameters & C s a Constant.
(l) ,__v_.:-o (ﬁ) dav £.0 BD sharma, bock - oExercise 22.0L (5-4)
ol da Y= ax tbxt+rc —— @
dv d N
i = s’ —llax4196=0 ,__-di BLA e
‘{#(39«:«9——— =0 a4’y 2,
Q. w [- 1
— e —2. 8% 4+ Q=0 %°
‘ ! @5 A2 (ydy )ik
B —2 |2 —Tx +49 =0 et 2 49 "
ay _ 4 dy
= ~1)= % S8 5 o oY 2N .49
ve (2~1)~1(a-1) =0 3 43, FbpbeaTl -y
(x-1)(zm-my =0 [0F 9= 4 2Y 2y o[ _x§5]+c
. '71.1_
2-T=0,Ba-T=D 24 = %2—11; < ‘*‘2"‘%”{“”3“"1’ y2c.
= w s
‘x,._—,) Sx=7 %g-é—-'l'—Zx_jﬁ"‘l‘l:j-—j,C, =0
When x=1, beox cannct be Jormed. - A x Q.):.)
j = l 2. B |
/54, 2 Y —a2xY, $2.49~2C =0 9
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29 Examine the binar opevation of
“the Opevation axb= (Bb;_'] , ¥2,beQ

A%b - _.a.'.-::"- Va;bEQ
i a= 5 b=
A kb= % su.nale{—\'nw‘.
b-1 %0
a¥b= 21« a,be@-{1}

=]

¥ isS a b‘ma'rj opevation 0n Q-—{I}

40. Show that [(—lﬂ,)/\

Example A-10Gi) old fext

@
PJAc; i & Contadiction

Heck. Volume TE P«fofiu.“r

P la 9 [nare |[ca)ar]ag
g B s r ¥
ard [ O o F
= Y F ¥ =
e lF |7 F F

[(_'q')’\f’]’\‘if s a Contradiction
ET(@) A car A is "tra.ve“inj faem

B0 Show that , if x=1v cosl ,Y=vsinb,
then 2T is equal tv Cos6.
n > 1> eq)

x

H = ¥ cosE ngsinQ

)
2 2
’LD-: TQ-COS & : al: Tz.St n’B
2 2 5,
'X.L-l-tj = ¥ CosB+ ¥ SInG

= x* Cc,os’]g + S ng)

o 2 9 .
o TN = n
2%x+0 = o7 2%
o
DY e B AYCEl
DR 2% 2%

} =

_C?I— = cosE
O

west at So km/hr and carp 15
*I:‘rava.“:nﬁ towards north at 60km/h1“.
Both arye headed. 'E-O‘r thes. intergection
o} the two woads. At @hat Tate ave
the Cars atPPfoachmﬂ each other
when car A is 68 kilometers andl
car B iS onpkilometers Frem the
inter section ?

Let C is the nfevsection oj-
the o Yeadgat a given time . N
Let % be4he distance. fwm cav A o C,.\\

Letj bethe distonce. ]tarurn carBto C. \\:B

Lef 2 be=the dstance. between carrA and B.
Given that, '
d'l = _éij = ——'60
o= 50 and =

37'5upp°$6 that -z.:-jex twheve
2 =21t and y=1-t -hen f;nd %ti

E= }jexq- x=at Y=1-%
- o _ 8y _ _
%2-;:'33 .25¢ —g’i—-ﬂl _a%- |
_d__-z‘-:erx'([)
4 dz._g\_g_“cjgt_Jrﬁi}_.éﬂ.
—;l_t_u— dx n_olt dj dt

=2uy € (2)+ e:n-“(-l)
= hny €™ — e
e,xi[“ﬁ "']

. ecz? (w@n0-t)-1)
e” (stu-6)-1)

= e (8t-8t™|)

—_—

—

5 PURATZ HIVENDHAN M Sc.,M.Ed.) M.Phi

x=0.3 and Y=ol
Py Pﬂthaaoms —theovem,
o4y = = —0Q
= (03T +(oh)

-9 +o-b6
©.25

'IZ:O-S l

olif-ferenﬁate equa.h’on@ with TeSFect ot

o

d d5 s Z
e "at—+9‘5m," 2z —gﬁ:—
oz _ _ du_, dy
=LA et s_cﬁ
(o-B)if‘z—-:(o-s)(_so)+(o-4)(—6o)
= .
(0-5)-'3;—- 39
dz. . —39 =39 __aqx9
at o5 Y
dzi, =—78

“The —ars axe appyoaching each other

Knidly Send Me Question & Answer
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fl-’?(b) Find the area of't’ne Tealon
bounded by the ellipse .Z--+ ‘_-l
and its latus wvectums. '

NCERT 2 2 ﬂl('%
Exempton, X Y _
P e 25 | :
PKC.BL t:M = [._SD E,. S(_.-_J_c:-)
pu_cj.g-rre H
—_— = l —
16
2
Y w ch_
16 =25 25
b
Y*= L (ag—at)
6 25
& |6
= L Gasa®)
13: . 25
| 5
(-3 2.
a = 25; b:[é
a 2
= 25-16
Cc =9
Q=

“The ea;uad'ion of latus Y‘ec-h,;m i§ A=t 3
Avea Tequipep!; 4 xAvea o 151:0} ol

O

J LY T
Z’LjAIQS 'x O‘?L
Tlgéjjsl-'xla‘x

@

Sef;fe;mbe,r 202\

29. '_T_} ocand p are the ¥oots oj—
o~ BEx+6 =0 then prove that a(_P =15

x —f-591_+6 o

a(-r—p 2 .__- cy C-S)_

6-6

—_—

(

O(P = _2_. -
(o-P) = a{%rff——ld‘P
ot

I

s (o<+p) LA p
= S"=55)
= .'2.5——2-1-\-
(g} = 1 5 faphs 1
A-p = @+p)(o-p)
(5)(+|)

S - PURATCHIYENDHAN M.Sc.M-Ed.,M-Phi] -

£ R

20. Show that the d Hefential %ua‘hm
Covresfxmdnj +to 3 A Sinx, wheve A 18
an  ar bairm\wj constant 1b 9=y Tdtan %

j:: A Sina

5': A C.O5%,
(ftanx on beth =ides.
= H‘tc;mx — Acosx.tan=

A CoSx x SNt
fanTollr 2

A sSina
9

j'tanoc .

gr-t-o.n’x.

Ly

Ee'dexo:é—mﬂ—_a;_sinq(%_)ﬁ
=16

3
=2 W .. 285 o =lfA
[‘i 2x + —= Sin (‘é)]
b

5
=}5—6 ?.JE'—?H as s;n_‘GiH
=Ll [3B5a+ 26 sin (ﬁ_ﬂ

%[Sxm+ 258m'(—5-ﬂ
_9._[11-1— zssin_l(%)]

(%)

(1

q6 s ‘a,x?-S_gm )

0

56 A force, |3|+IOJ-3k acts on
a Paﬂ:cle which s displaced. }mm
the Pom-t with pesition vector,

4, 3_]--‘11& 4o the Fom‘t with positien
vectpr 61*_] 3k =show that

done tzlj “+the -!-thE.- s 69 wnits.
Text beck sum
F lBl + \OJ BK r,cg“p.’l]'u' ac h(("_

d (6l+J -‘3k~) (1-1 1__3,}"'9-"’\) J—i .J‘-),} __,A

Exervcise 6. l~\ll‘1
w=g. 2 velume T (221)

- (13?+103—3'L). ('l?-}- l-tj\rg)
= 26440+3
W= &9 units

e work

1‘5{’--& 4o Sin (W)
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38 An ‘egj “Of a Parﬁcv.dar bird is

inside o} the _shell is 4mm and
vadius to the outside oi the shell
1S 4.2mm Pwve that the app A

Volume o{ the shell s 12-8T mm~

dr = b.2 — L
dT: c-2. mm
Volume (v): __g'p't r?’ Cu-units
dv
ay
av = YT x ¥ xar
= KT x( l'-‘)zx(o'l)
©:-8T %16
av = 12-551rt'rwnm5

= %‘rrxa‘ra-

—

.SPheﬁcal in shape- I yadius to the

wximate

(MRadius o} the inside shell = 4mm
Radius o} the outside shell =4.2mm

o |

(o]

I
= +\x

d‘l’.:,l_
2

&

J'-H"') dx = ﬁ(ﬂ—x)dx
» \ o

I= S | ey

(@] nrl-_(l"_’;-)-fjl—-—;
d =

NI =

T ‘J JTON
P J"J—L+,Jl-~x

D+®@= 21= ‘j__ﬁ‘-g—a d“j%ﬁi

o 0
ST e E ,___.___-—*m*"] — o\fx.
= Jx 4 =

21 = ‘2 Y_]g\ru..

dac

\

ot

(®]
d e —ND

_ZLI:E)(:);

27T = |-0

< e )
I=-é~_

wWww.TrbTnpsc.com
4l (@) Solve the —System o @)
eo}uations x-—g-m_z:z, liju,z:?,
hx-y+z=k b Cramer’s vule. .
Exercide |-6(1)(1)- |‘-"|C"ncr\ C'h‘“'fl\:'fk
AX—Yy+2zZ = 2. *
2 +Yt k= =%
b = o e -
=1q i
H - \
= 1 (1 )+ (2-16) 4 2 (-2—4)
= B=lk~.
= & —26
A= —2)
—_—A - |2 ik
£ T W
I b " )
E}‘ = 2 ((+1)! (’f—le)+2(~1—@
2 vy
> | N—T1 —
J q 2.2
% . 10— 3|
z
g AN = y 2 2
g J . R 11
S ooy
S
i = | (7-16)-2(2-16)+ 2. (3-28)
g"‘_ = —q 42840
S = —L49+28
A=l -1 2
Z | -1
& =f &
= 1 (3 7) +1(8-28 )2 (2-4)
= =20 -12n
= -3
A'z_:' — 2|
ax= Do =21 _,
o .l
= 8y _ =21 _
= Do = =Bl
Z = Sz _ -2 = A
A —=\
5 ol > lj":l: <z =)
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| 43 (k) Find the eccentricitj,centve,,
B
verticeS &« Joci o} the eiiiPse%+}£=|

Centre = (o0,0)

Vertices = (ta,0)

(x4,0)

= (£¢,0) = (iﬁ,o)

k—

‘Foci

& also draw % . Twah O‘I'Otjmm. Oi the Plcme_,
xﬂ_ - 2. NCERT (1™ text beck ) Ky 3_5‘ z—2Z,
. g —ld—"':] Exercise 1-3(3) »
e 1 page - 255 A=, 32"31 Z,-Z) |= O
ﬂg-: (6 y bl_.': 5) '\;foiume"ij_ L‘ m| nl
a-:"{- y = B % =1 ‘j—D_ _—
c’= at—b 2-] g-2 1-3|=o0
= 16—9 2 13 4
c* =
O 2 :Iﬁ wx—1 ‘j-l Z—3
‘ r 2 \=o
eccentricitj (e) = % = i;’__ - —a2 B

S - PURATCHIVENDHAN M).Sc.,M-Ed-,M-Phil.

|40 Prove that +the. 3e,n'emi eq,ukx-ﬂbn

0.
The cartesian equation O

(%=1 (4 — 1) - (g=a)r- 6)
% (z-3)(-2—3)=0
(n=1X0) — Y-2)Ce) + (z-2)(-5) =0
O Aoytzo—-52+15 =0
AlYy-5Zz+ 35 =0
oy +5z — 35 =0

24+=—1 =0 |

55

Wﬂ 2.:02.9-.

K1(b) Show that the —astesian
equation of the plane passing
thewugh the peints (1,2,%ad(2,2))
and also fPeno\-.cular 1o the

Plane. =S A— 24+ 472450 s 9-31‘2-'7:0
Exercise 2.8(1) o Aid texthpc®™®  Volune 1 = 93

The normal ‘Weetor to-the F!ane»
Da— Y+ 4Z - 2 15 3?_317’_‘_ !-r_!:

“T his is qulle,'t to the .
Yeo uived P'lo.na..

The -s‘eq,uireo\. plane.. l::asSeS

o} the circle whese. diametes ¢ the
line seqment jd'w—ﬂnj +the Pomts‘(-#,"l)
and (-1,-1) is o+ =+ Sx+ 3y +6=0
E’K{.lmp\:‘.. 5—1-\ (\r'(,tiu, e -.'_‘\_(:u.r'l_tjr'(i
uation o} the citcle with end
Points of the diameter as(x,,4,)ana

(%x2,Y9,) 9iven in theovem sS.2 1%
(=) (-,) + 4-94)y-Y,)=0
(x+ ) (2 +1) + (4+2) (yn) = ©

- 5 2.
¢ +athetl +y tY+taytr 2=

=

2. X
2t + Y +6fx+33+é>:<3

“’L’h'l'DUleh the Po'\ﬁt (I,-'Z;B)anol (Q,B,I)
and Pamlle, o the vector =7 2] J{}z
(1:,9,,1l)= (1,2,3)

('xl,gg_’zz)z (1.!3:'!3

(Lljmbn;): (3,"1:1'*.)

45.(b) Show that the anj|a between
the cuyves 5:9&9' and %= tjﬁ'c:tt )

is tan!(2\ RD sharma Mathematics
g Chagpter (& = Tanc ente and Nermals
Giiven that | Exexcise 6.5 (iq) page-h2.

Yo ——ad
el —
—‘demt 7(":\)
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d iﬁexentiatinj O with TeSFe.ct op!

(i) P(22%) = P(x23) &

bo(a) The dlistibution function jof o
ContHnuoud yandom variable > i1s :

(o]
Bl = ey * ;
(%) {%J?' ) 1o lD Find ()P (x<2)
B 1 x5
Gi) Pclix-cs,.) i) P(2<x)
F(l): o 3 2 <
g‘gﬁ" » &gy
1 5
(N P(x<3) = peay= 2-1 .2 _
TR
() Pla<x<y)= Flyy-F(a)
w 8=l 2}
+" g
r— ;23___[
o 3
= +

dy
L -
dy A i = hepleew
J;-(\,l) = M, = 2Q) = =
m, =9 = ==
| dilleventiate @ with vespect to = l Flaaw) = &
23 _3;1_. = -
%
i ' B "Tulﬂ 202.2.
g =T £|22 T4 x aniP ave the Yoots of
; 2- = fow that
_@_ % . = "%\ rx,l-f- i'x t6=0 then —
dag, 1y 20 T xtp=12
rm, = L+ 3 x +5x+tb=6&
J - —b -2 _
tane@ = | M—My \ g P = Qs il
[+ m Ang =N 6 -
\Ma. z P ot
= 9.~ L. T 2. o8
7 % A fP - (o(+P)Lﬁ2_dP
|4 2¢ L W 2.
= E' = (-5)— =2(6)
= | 5 § | = 25-12-
4\ o B + p": 13
o
= L ?é:_\ Q/) 23. Find the value ot sin'(1)+ cos'(1)
2. = o
‘_5101([)‘?' 60510) = I 4o =T
+ong = = : - =
b 20 Foxm —+he differential equation
g = -tan"(%) o} the curve —ax’+bx +c , wheve

A,b&C ave a‘rbitmxjj Congtants.

Y= ase + b +c —®
g =2axrthb —3

hena > [ Lo

@2y - 2(4y,)x+b

4 = xy,+b
81"131: o
Fra=a]

B
D=3 'Y= L e+l )nr e
- a.
=S W +ay~afy e
2Yy= l:jzxg"-re:le - :z.xlﬁl+2 c
2y = :af'gl-g- 22y —2 xlkj;"* 2€.
=Y - pc252 t2¢

2.
x 52__215' tay—aec=p

Knidly Send Me Question & Answer Keys to Us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www. TrbTnpsc.com
. y
3h. Prove that the wats of the equation :Q_j’qﬁw\x @
- . &
D(.#—-B'x, —4=0 ~—8er'*- ;
2. 3
Let E.-:.'x- = 8 J(I&)G"X— _E
=8 =%=0 o " %
2 : =H. +i o 8 ] "g
Y~uy+-iy =© ,5 =
. " F
Yly-u)+1(y-y) =0 —~ax_:3_[ —’Vz]o §
(Y-1)(y+1) = © e % .(4)3@ g
Jo4=0 § eI =8 3 :
[4=u];[y=—1) =L i 3
= 16 _2:3 Qd
Y=44 = ==y 3 <
1 SR ol A -~ _‘ixa .
3 > "
3':-—1 '% 2 = —| A = 2.8 jo;.qn]'tS] I
% = i 2
L RootsS axve t 2.5 2L
i o IMarch 2e2 5.
4’0- F’wve +that I-X_e 0{1_1 Vol E =0. Expiess 6@59+r5|n9 a+ib form
V\J £ &k NIS(FLL;‘\NEL’JUb ExERCISES) = )
€ Know +that, (1) - (35) Page-353 ecaso-rns;nff: QCOSSX ei.sm&_,f@
0Jad 3 x -
.H( )] -t :’:C )Jﬁf Y _J‘[f(x)_[ﬁ(lﬂ}l We know that
aY) = T i
j & Feay = o;\ ano\d gmy=e® P
xe du = |.;, e*An—| (2% [* rz. ]
~ j J I D @-:} ecc&& [Cos(gina)-} isin (_SinS—)]
=[re"= i eraal,

c 38
=e . C,oe,(sino)-i-'feco .gin(sing),

_Lxe“a‘ Ece _-e.]
= [: e, e,] [0 e, e]
- [e-6)-d)
= o0-(eY)

| = oW

J’x_exd«— N

o

I1-(a) Show that -the arvea between
the Pa.raloo\a. 5 ex & e latus
Yectum (u_smj mtegmhon) 18 |D§

40. I} atbtczp and @,b,c ave
vational numbers -then, pyore thot
the Teots o} the equation
(b+C-a~)'xﬁ+(c+q-b)x+ (a+b-c)=0 a¥e

Yational numbers.
We need o show that discyiminant (8

o Perject =Ajuave.
A= (brc-a) B= (c+a-b),C=(atb-¢)
A= BE=yac
= (c+a- b)L 4 (btc-a). (a+b-¢)

Maharashtya 2 ¥ 3 C—b b) (-a-a)(-c-c
Text beok Ei \6x : "X ( % ]:‘O.+b+c_) o
M(ﬁwmnhiﬂ] i .,rg l.*- r X if i' (4,0) = 'Qb)'* e (‘.2“)(-9.0) 1:.:::;‘5&
PART TT = ‘l"bg-—'|E|OLC- atb=-C
A — Avea PocP+ Arvea ROCK X' = 4 ( bgllfac>
Hg = & (Avec PocP) = L ((a%—t'}l—l-.\ a\c.)
= ) \ =
5% =2 [ydx = & [Gn-27"]
> 8- O = [:Q’C-Q"Cﬂ “The ~vots are mational
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47(a) Find the maximum value of logx
x

{ Giiven that RD Sharma
ogx Exercise 18.6(ic)
j’(l.).- PAge - 8o

For critical Po':nts :Fr(x_):o

{'(1) = Ax-— loga (1)

|
“7hus maximum value of ) 1s $ce)

fley= loge _ 1 -
.

e

- Max mim value = Jé .

47 (b) Find the area of the smaller reqion
bounded by the elli ipie __.+%1 =| (and

the straight line - +%_

Avea o} Bca® C 2 g
= Avea (0BCAO) _
& - Area(OBﬁO) @) e
= [ J1-%; du --J b(t—."i dx
o o a
b

a L 4 =
—_— | = - NCERT
2.a —_
MISCELL-ANECOVS EXERCISE
= ab [w_, : - ¥
= =z Ci'"’ Sum — volumell
i~ r_:(& G2 _?}--fij
— ab (T‘ 9__) J

[AEC]) =g

30 Gipo that the vectors

A A‘\ ~ a.\ AL
27-T+3k,i-) and 2-J46k are
coPlanaY‘.

O

A= 20 —j+3k
=y ~ "

RoE ke

2= 3% ~j+6k

5’(‘ o ol - The 3 vectors are saidto be
T e ?x co-planar if EQE’]-D
x
I”LO n —_ A 2. =1 3
-____'_3_" e [a b C.] 1 =1 o
2C t
{ — Lcaru_ =0 X q-g_, ‘{”(1) ;gl‘l—.?.:-\ﬂl K, -\ b
=
|=Llogx = © flgyRr2elne = 2 (~b+o)m(6x0)F 3 (-1+3)
[ = Lojx eﬁ i
loqe = logqae | I o
~ e = -2 46+ 8
w EE=m " = —1z2at N
{@)<o
X =e

Hence.*t-ho_ aiven vectors are coplanq‘r

©)

A[
<3
|Al =

‘ ad;

1ao\j

@

2. -1 3
A = |- & \
-3 2 3

2 = B
-5 3 )
=5 "= @

2.(A-2)N (-15+3) + 3 (-lo+9)

2(1) +1-12) + 20
4 =12 =3
g —\5

Al = -1 |

(ao\ja)\ = |a \("")
= e
= (-—1)

e guy?

(ao\jh)\ = |

3 J then }md | ad; (adﬁ)l
3

S - PURATCHIVENDHAN  M-Sc.,M-Ed., M Phil
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45(B) Find the vector and Cartesian
e%aﬁons 95 the Plane Centaining

X-Z o Y2 .z and paralel to
> 3 =
'H]E, L‘ne _'2"1"_' —_ H_I - =z 41 . Fjajqul
e 2 |

Olfl text bock Exercise 2.8(1)

Since +the ';‘eo;uimcl Flo.ne i8

Containinj the ling 2-2 - =% =
- l_ 3
ot —eontaing -the oint (.2;1:‘)

and Pam”@f fo the Veetoy 2?+3?+3?-

)
=

The quno. Pamllel it +the line
=El . B . =¥
s~ M - [

X% is Pa\m‘l'le.\ to 4 .i?% ._\2 .

=1 he eguation sta plane.
passing thyough a point whose.
pesition vector is & and }JamHﬁf
1o He Vectors W and v iS

=3 -

__:’
% =2+5u++v

1) =hews +hat ®
Poq = ((~Pva) A((N"L)VP)V{--'....“-E i1

Old text bcok
POY eaxercise 9.3s)- pagelss
¥ 9 |P<9
Tl T T
. F F
F T F
F F T
((wp)v%)A((w‘L)VP)
F / n
P lg [~P|~% @P% (sa)vp|MAN
TIT [FIFIQYD| ™
TIF [ F | T LluF T F
FIF|T [N]& b | T

v PN 3((mp)v%)/\((~°p)vf’)

-
ct

w

—

\'

—> — =
= 25 +2) + k
=3
— e
20433+ 3k

—
x

—a

S ay &

-'__) b
5 e AT W, W
= ¥ =(3e33e R )48 (9_7’+33?+312>+t(51 T4k )

artesian fovm

(1,,5”1”: (Q,,?_.)‘.) §
Ut;mum)‘: (9'13)3) ‘-—é‘
(la,mz )= (3,251) 3
4
A-% Y=Y, KR s
L M 2 2
b
II.Q_ M as 'ﬂl ;ﬁ
>
= - 2 =
n— 2 y-2 Z= %’-
Z 3 2 =G
s
3 B ( 95
(x-2)(2-6)~(4-2) (22Dt Gz-1)(y-a) =©

(% ~2)(-2)— (y-2)(1) +(z-1)(-B) =0
—3%+6 +71yY - 4 —52z+5 = O

— 20 AT -F T — B =G

S~TY + B2 +3 =0
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